Honors Geometry
Ch. 6 REVIEW

1) Reduce these ratios:
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2) Find the value of x:
a) x-4 =1_ b) _x =x+5
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4) The angles of a triangle are in the ratio 2: 3: 10.
Use algebra to find the angles.

IX + 2 +0x = [$O
X = |7

6) Given: AABC ~AADE, find AB.
AD =x+3, AB=x+8 AE =12, AC = 16
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9) Find the value of x: 10) Find the value of y:
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a) Write a SIMILARITY statement.
Lo = AAe
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13) Find the length of AB in simplified 14) Find CB so that LM || AB.
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Lesson
Name

T 1.¢cD bisects £.C, and ZW bisects £ Z.

@ In AABC, BC = 8, CA = 10, and AB = 12. If M is the midpoint of CA, and BP

For exercises 1-3, AABC - - AXYZ

AB:XY = 58; CD = 10; ZW <

2. CD and ZW are medians. 40
ABXY = 35,CD = 8; ZW = _3__ A
3. CD is an altitude drawn to AB, and ZW is an altitude -

. A b "~ B
drawn to XY BC:YZ = 4:7; CD = 10; ZW = Ay 4 _lo

Find the value of 7 X
alue of x.
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- 8. The ratio of the altitudes of two similar triangles is 3: 5 The side lengths of . i

larger triangle? 2. _ G = .
s % x 0
- 8. ADEF ~ AHIJ and EG and K are medians. Find the values of X and Y.
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the smaller triangle are 6, 7, and 8. What rre the Ien%}Ps of the sidesof the
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APPLICATIONS

Using the arcs for congruent angles, identify the similar

Name

(. .triangles and solve each problem below.

1. How tall is the tree?

X T AU

‘Independent Activity 9

(= 30@#.}" N

‘9. How far must the biker travel from.
point A to point E if DB is3m, ACis
50 m, and BC is 4 m long? .

X= TS

3. How wide is the lake if DE=9 £, DC =
15 ft and DB =81 ft?
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4 Hﬂaury 155ft j;all. SI:Le cists a shaddw— o
4 ft long. If a tower beside her casts a
shadow 28 ft long, how high is the
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